N = K¢ = B =L = W -
snsxr X I R T B B R T B = wm
%A E [#BERES| HMEE 1 =
£ 5 % R 8| TeEBHESEELEER
B 1T 1B W LbEEABH  mA—F A
B i1 % M| ETOBLY HRT (ST 6 % 8 A 25 HED
AR #A M & A B B 5y
L1 4B LHEEABHR PE MA
2
¥
A
3
¥
"




AFn 5 AR /NIEE S S
=Ju =
1 = AX 5 =
WE X BOREFT
¥ HOE B EFE
ok f 14
s Bk M H = 406403 H 25 H
T # % &5 BEHERELS
R 4
2
BB 4 %
TR DU (VAR WhE AT HN—H
T L 2 4 T AT B A R B S 25T
T = %
4 F 413,

TE SRR T

(RARPREL - 255 2 [[]/4F) A=9, 5400t

Qj;([% 1B /%) A=1, ioﬁ
T = AR E N=80

%= HREAR BT N=2004%
IRAETE A=4, 770t




r %= g E a5 4R

T I % BT e R PR S 255t
Z " | K

R T R AH: AFN03FEE

T E X 4 AR T —

B @ M 4 A H SFSESA LA A4k

A S L@

M OH 4 A A SHAFELI0H LB bR
A E o O E A H BRI A

i ]




B A AR B S R

5 I #
# H - L M - ®E B - M H ¥ & BT H i & i) A BT i} b
T H00100
1 =
AT HEE H00200
1 =
R —1E01 K0008
1 =
&3 Q00001
W h & BRI




B A AR B S R

iy
gjlj“
T

AT FORE

# B - I F - M B - M H H & HAAL B it & #H B A0 LA R i L2
RETRE — 01 K0008
1 =
SRR T (AR EL « 20) « ) i $8437-0001
PARBREL (A 7 Hi) 9, 540 nt 15
TE AR T (- ATE) $8433-0001 #E 100emPL_E200cmA i
AR A E (HE ) 200 A i 2 5
BT (AT $8433-0002 B #E6 0 cmblE
AR A TE 60 7N W3 5 120 cm#&jH
TEFAH T (FATE) $8433-0003 B #E 6 0 c mARm
AR AGE 20 A i 45
FiE (IEA) A E S8434-0001
4,770 nt i 5 &
I ] SQ7454-0001
9, 540 m2 P 1E
HA TR ] SQ7455-0001 EYREREEG. Skmbl T
27 Ny 2tk 9, 540 m2 P 25 JAYIEREE (BAF) &
TE AR T (BABR (A - 22)) $8439-0001
T (IEAR) 1,300 nt 6 &
EHETHERG P0000001
AR — 1 Q90001
1 =
B 73 H00400
1 =
W X HBKE T




B AR PSS 2t
AL F O OH N R FE
# B - T Bl oA ¥ & LA H i & sl A BT i} b
THE B AE 2 A i Q00401
1 =
&5t : Q00402

W X HBKE T




B A B AT
[ 8 1 B ieLHf6Z (S8437-0001) ]

TEPRAE R T (BARBREL « X « JEK)  HRAR PR (A 72 Hh) 100 m 40
4 77 ) & B & BT H it 4 sl B0 A 7 15 %
BTG TT8576 T4 B
F#A Z 41 100, ot
it P0000001
B 720 P0000002

WIEEE= (1+0) X1.00X1.00X1.00=1

[4&4F] |
I RS RS (AT ) (8]

[A] = = 1 i THFE 1000m 2L 1
[C] = 1 /{EERFEOHIR HIRLARWESE [D] = 1 HHEMEEOWHE KEMEELWEE
[E] = 1 S T3BAT A0E Kk O%KEE I miE0GEe . [F] = 1 FEREEEE—Y VI-2-G-1

W X HBKE T



B A AR B S R

[ 8 2 B 5 LHf6Z (S8433-0001) ]

TE AR T (A E) MR AE (MRTE) 100 NV
(%8 100cmPh_F200ecmA )
4 77 ) & B & LA H il & sl B3 HLAG 2 15 %
HEAR (P 171) TT8462
& 10020 E 200em A i 100, ¥
it P0000001
BAYM 720 P0000002

WIEEE= (1+0) X1.00X1.00X1.00=1

ESCH :
[A] = 3 fEEXS FEAEAE (MR (B] = 6 JBIK <1k A & 100em~200cmAif
[(C] = 1 i TAHRL 50A4LL k= D] = 1 {EERBOHR HRLZ2NEE
(E] = 1  &EWEEOMIE KHEELRWES (Fl = 1 B THAT A0EROSGE R SUIMED S
(6] = 1 HFEEEES—Y VI-2-G-1 ;

W X HBKE T




B A B AT
[ 8 3 B jELHfliZ (S8433-0002) ]

BT (EAE) mAEAE 100 N
(Z #5860 cmlll , 120 cmAKlil )
4 S ) #% ¥ = BT H it 4 # B0 A 7 1 =
EmAREAE (EH) TT8451
#JE 6000 120em Al 100, Z
At P0000001
B 720 P0000002

WIEEE= (1+0) X1.00X1.00X1.00=1

ESR ;
(Al = 1 (fEEXS @AREAE [B] = 2 JBIK ~HE @A HH #JE60cm~120em A
[Cl = 1 THUE 50ALL L D] = 1 EERROHIR HIR LRV |
[E] = 1 WEEROMIE ERIEELRWES [F] = 1 MET5HFT SR OZBEIHED S
(6] = 1 MFEEEE~—Y VI-2-G-1 :

W X HBKE T



B A AR B S R

[ 8 4 B iELHA6Z (S8433-0003) ]

BT (EAE) mAEAE 100 NI
(B8] #86 0 c mATH , )
4 77/ I -} ¥ ¥ B BAAT fif & #H A AT i L2
A A E GEH) : TT8450
R JE 60cmAST 100 N
&t P0000001
BA4720 P0000002
WIEARE= (1 4+0.10) X1.00X1.00X1.00=1.1
[5fF]
(Al = 1 f1E¥EXS mAREAE [B] = 1 IR Tk @A HH #J860cmA
[C] = 2 HFiTHAE 10420 E50AR A (D] = 1 PEEEFEOFIR FIRLA2VEE
[E] = 1 H&HEEEOMHIE KREEELRWES [F]1 = 1 SET3HAT HEEORES X IHEDEA
[G] = 1 FEEHEE—Y VI-2-G-1
W X HBKE T



B A B AT
[ 8 5 & jE LHA6Z (S8434-0001) ]

Tt (A & AE 100 nt 49
4 i i S & BAAT B il & #H B A0 LA R i L2
A T A i 18464 55 Bl
AR (Bk9) 100 i
2t P0000001
BAYM 720 P0000002

WIEEE= (1+0) X1.00X1.00X1.00=1

EX ;
[A] = 1 {EK4y FRUEA) EAE [B] = 1 LA 1000miLl F
[C] = 1 {EERHOHIR HIRLARVES D] = 1 REEEORE WRIEELAVES
[E] = = 1 BIEEEA—Y VI-2-B-1

1 i T35ET ARE K OSCIE B SUIAHE D56 . [F]

W X HBKE T



B A AR B S R
%

[ 6 B i L HZE (S8439-0001) ]
TH AR L (bR (B - 2)) F9 (IRAR) 100 )
4 77/ I -} s ¥ B HAAL H il & %A B A0 LA R i L2
B W i T18587 i 453 WAt
AR (Bk9) 100 i
SEF AT (nf 24) i TH#0002
EHa i P0000001
HALY 720 i P0000002
WIEEE= (1+0) X1.00X1.00X1.00=1
B i
[A] = 1 7EEXS FMJEK) [B] = 1 SLHE 1000nfll k
[C] = 1 /EERERIOHIR HIR L AWES (D] = 1 KEIEEOWE EMEELLRVWES
(E] = 1 SET3HAT HEEORES X IMHEDEE [F] = 5.000 SR BT (i 24)
(6] = 1 HFEAEUEE—Y VI-2-G-1 !

W X HBKE T




B AT HER A BB 2Rt

[ % 1 5 I/ %y 47— (SQ7454-0001) ]

£

1 m2 %49

AR (%)

2

HERREE (%)

B Y b X A

it 1 X A

0 Bt 25 5

TR0200

Z DAL (5555)

(E k)

B3
(P1] = 1

FERIEEEA - V-3-00—4

10

[ARSF == N: 2711



B AT HER A BB 2Rt

[ % 2 5 Wl %y 47— (SQ7455-0001) ]

THIATERE 7 V7 VIy) 2uHEk 1 m2 %4V
(GEHEEREEG. SkmbL T VRS (BRI &1 )
4 wo- H & SKERE R L (%) 4 FEYE R X A TR b X AT B EEAT 2 5 ] C)
€209
ATV 2 S A | TM1002P JAVIBAEE R OME S &
2 t fEk
[97%5]
EEEER TR0200
EEET (—%) TR1500
O (G775
[#4%]
(3 TT0002
[sagcan ]
[5:1F]
[Ji] =1 EssesRE 407 M7y 2thEmk 807" V) BB
[P1] =1 FEREEEN - V-3-@-5

[ARSF == N: 2711




